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:12x2—§xé:8—2
3 2 5
wh2hA] 10X = 60 o]t}




76.

x7ta S AEZL W, b= T &2 A2? (F,a>0)




::- a—ﬁ—l EII a+4a+4—’]ule O:EI_
tl
. [= ]

> 3
D342V2

B

2
a’*+4a+4=(a+2)?
=(V2-1+2)
=(V2+1)?
=242V2+1
=3+2V2




78.

x=-3+ V5 & ], x* +6x+9 O F& F5FH?

R 4+6x+9=(x+32=(-3+V5+3)2=5




79. - (2 —6y+9) 2 A5HsHH?

@ (x-y-5)(x—y+2) @ (x=y+5)(x—y+2)
® (x+y-3)(x-y-3) @ (x+y+3)(x—-y+3)
@ +y-3)(x-y+3)

x* = (- 6y+9)
=x"-(y-3)?
=(x+y-3)(x-y+3)




@ (x-5y)(x-y) @ (x4 2y)(x—-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)
@ (x+5)(x+)

~&B

(x+3y)? - 4% = (x +3y)> - (2y)* | B2
x+3y=A, 2y=BetoH
A2—B2 = (A+B)(A-B)

= (x+ 3y +2y)(x + 3y - 2y)

= (x+5y)(x+)




81l. (2x+1)2-(x-2)2=(Bx+a)(x+b) ¥ W, a+3b2] Zt=2 FoFH?

® 4 @ 6 @7  @s ® 9

B

2x+1=A, x—2=B= X|35}H
(2x+1)%2 - (x-2)2
=A?>-B>=(A+B)(A-B)
=(2x+14+x-2)2x+1-x+2)
=@Bx-1)(x+3)
La=-1,b=3
Soa+3=-149=38




82. A 2x(x + 1) - 6(x + 1), x* - 9, x* - 6x +
9 o] 5 A4E F5tofet.
> £

> &g x-3

B
2x(x+1)—6(x+1) = (x+ 1)(2x - 6)
=2(x+1)(x-3)

¥ -9=(x+3)(x-3)
x2—6x+9=(x-3)?




83.

o AFTEAA V322 9 g a,

b-a 9| & Fotolet.

A
T

30
31
32
33
34

5.47715.486
9.568 5,577
5.657 5,666
5.745(5.753
5.831(5.840

5.495
5,586
9,675
5.762
5.848

5.014
5.604
5,692
0.779
5,865

vV V
0
i

. b—a=0.199

a=>5675,b=>5874
b—a=>5874-5675=0.199




o
rr

84. THE F (r-3) & A4E 24 g ALY

D 222 -7x+3 @ 2x>2-5x-3 @ 5x2-16x+3
@2)62—5)6—1—2 ® -2x2+9x-9

~&B

@ 2x% - Tx+3=(2x-1)(x-3)

@ 2x* -5x-3=(x-3)(2x+ 1)

® 5x% = 16x +3 = (5x— 1)(x - 3)

@ 2x2-5x+2=(2x-1)(x-2)

® —2x% +9x -9 = (x—3)(-2x + 3)

A (x - 3) 2 A= 2A] e A2 @ o]t




85.

1 1 .
O ool gEAELe HEs [ ot duke
ot
1 1 1 1

@ ig @ il_]: (@)ig @ ii @ +1

ot 2= (1“1 )2

1 9” ~\9' %3

1




86. o= F Aol HAEAL W, a+b 9] F& Fotdt (Fa>0)

Ox2 +ax+1, 4x2+8x+b

=
| — ]

>
> FHE a+b=10

B )

9x2 +ax+1=(3x+1)
a=2%Xx3%X1, a=6

4x2 4 8x+ b = (2x + 2)°
b=2%b=4

L a+b=6+4=10




87. x=V3++2,y=V3-v2 4 uj, AFE| TS 0]-§5to] x2 - y?
o] gt& otof et

> ®eh: 446

x+y=(V3+ v2)+ (V3-V2) =23,

v = (VB VB) - (VB - V3) =243
2=y =(x+y)(x-y) =2V3x2V2 =46




88. x=-1+ V2l 420419 ghS Fatolet

> E.

> ®e: 2




89. 4x?—dxy+y? +4x-2y B AFEAFAHY (2x - y) (Ax - By + C)
7t =tk A+ B+ C ©] & Foteieh
> =

> HE:. A+B+C=5

B ,

4x2 —dxy+y2 +4x -2y = (2x—y)2 +2(2x - )
=(2x-y) (2x-y+2)

L A=2 B=1,C=2

L A+B+C=5




90. 3ax?-6ax—9a 9 2A57}otd ALY

@ 3a @ x-3

@Sx—l ® a

@ x+1

3ax? — 6ax — 9a = 3a(x* — 2x - 3)
=3a(x-3)(x+1)




91. AFTEHNAM VI.7 =1.304, VI7=4.123 & uf, V170 9] Zt-&?

O 0.4123 2)13.04 ® 41.23

@ 1304 ® 4123

V170 = V1.7 x 102 = 10 V1.7 = 10 x 1.304 = 13.04




92. 2 F V23 = 4.796 Y2 0|83t AlFLe e T A= AL
= W Aol
A 0.023 © V230
© V023 @ 23000
ol @1 @224 @3H O 4
R 23 _ V23
D W= 100 10
© V230 = V2.3x 102 = 10v2.3
23 V23 _
© V0.23 = TiialnT = 0.4796
@ V23000 = V2.3 x 10% = 100V2.3
O|EZ 123 = 4.796 Y o] &3l AlFZLe] e T &A=
AL % 1 7)ot}




@a>b @ az=b ® a<b @ a<b ® a=b

B

VI8 +1> V12 o]7] Hj&of VI8 - Vi2+1 9] g =gt 0 Ko}
A

at b o] e BAE L W, a-b 9 Flol Folda>b
o|a, FFolHa< b O|BR

A2 a>b ot




94.

© A(-1-+5).B(2-V2)
@ A(-1+5).B(2+ V2)
@)A(-1-V5) . B(2+ V2)
@ A(-1+v5).B(2-V2)
® A(-1-v7).B(2+ V2)




6v2  3V5 3+5

95. +2 & Fs] YERfE?

2 5 5
@3«/§+2 @ 3V2+3V5+2
® 3vV5+2 @ 3v2-2
® 3v5-2
6v2  3v5 3+5

2—=3v2+2
5 = e 3V2 +




X(x+2)(x+4) (x+6) + 16 = A5E3|5He FpAolt. (et &
Ao 2.2 A

x(x+2)(x+4)(x+6)+ 16
=x(D) x (x+2)(@) + 16

= (x% 4 6x)(®) + 16

(@) =A 2 std

A2+ 8A+16=(A+4)?=(®)

@ x+5 @ x+3 @ x2+4x+8
(@)x2+6x ® x2+6x+1

B

@D x+6
@ x+4
@ x*+6x+8
®x+6x+4




97. TS E P —a? —a+ 19] A157} ohd AL BE B Q1] oS

D a®+1 © a®>-1 ©® a+1
® a-1 @ a*+1
o144 @24 @34 @44 O Qo
a-a’-a+1=a*Ga-1)-(a-1)

=(a®-1)(a-1)

(a-1)%(a+1)
OHA @ —a® —a+ 19 AU A2 O, ©, @°122 157}
obd 712 ¥ 2 7ol




98. x?+y?-4-2xy 9 Q5T E Q= A2
@x—y—Q @ x-y-4 @ x+y-2
@ x-y+4 ® x+y+2

P4y -d-2xy = (x-y)?>-2°
=@x-y+2)(x-y-2)




99. X%+ 5xy+2x—5y—3 = A5EfsH?

@© (x4 1)(x+5y+3)
® (x=1)(x+5y-3)

® (x+1)(x-5y-3)

@) (x-1)(x+5y+3)

x? 4+ 5xy+2x—5y—3
= x* + (5y + 2)x — (5y + 3)
= (x+5y+3)(x-1)




¥ -y +8x+4y+12

@ (x+y+3)(x-y+4)
® (x+y+2)(x+y+6)
@(x+y+2)(x—y+6)

@ (x+y+4)(x-y+3)

@ (x+y-2)(x-y-6)

¥+ 8x- (2 -4y-12)
=x*+8x—(y+2)(y-6)
=x+y+2)(x-y+6)




